Adding on 50 to humbers up to 100

12+50=_ 49+ 50= 27 +50=
42 + 50 = 1+ 50=__ 8 +50=__
13+50=_ 45+ 50= 29 +50=
12+50=__ 15+ 50=__ 40 +50=__
48+ 50 = 28+ 50=  25+450=
0+ 50 = 19 + 50 =

Working Mathematically
1)  Athletics Carnival Results
Yellow Team - Girl's Score = 44

Yellow Team - Boy's Score = 50
How many points did the yellow team score altogether?

2) The Year 2 Show | O = 1 person

First Show: OOOOOOOO0O0O OOOOOOOOOO
OO0OO0000000 oooo

. DODOOOO000 0O00O000000
Second Show: -mmEEEEOO0 Oooooooooo

0000000000
How many people went to the show altogether?
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